!

s

Er v v
I

o

WiEABEHPE g R (rorsen g0

100.10.25. % A2 B € 4] <L 1B

100.11.02. s 7% € R 12 & 3L iF

101.04.13.100 & & & % 2 £ air § R &
101.04.26. 100 & & & % 2 =t #c#% 3R 12 & i iF
101.11.22101 # & & 5 1 I K7+ € R 1 3§
102 & 37 20 p %% § hil 4B

102.9.11 i 7% € 3R3L i

102.11.21.102 # & & % 1 = #c#% § 3R 13 & i iF
103.115 % § il i§

103.11.27. 103 # & & 5 1 £ K7+ € RULB
105.1.6 % 7% § k1% 1 i 48

105.6.2.104 5 & & % 2 5 8 (o 507 § 3R E
105.12.7 i 7% € 3R 12 & i i

106.04.27. 105 5 & & % 2 8 #4% § 3R 0 W iF
106.9.20 i 7% € &k 12 I i 3B

106.11.30. 106 & & & & 1 5 #4% ¢ R 12 & i iF

i P
AP RGN A E (T HAEAR) R LRI R o
glx5
APk (TS ) PERBZGAE S FARE FHEEY L RRIR
e
(- ) BdRTHM ¢ L BFRF{cEY -
(Z) BBRXAKRTHOHAE ¢ RAEr2PF 278  LEBEIRT E
85 A o
(Z) BRAAad FA128L0 > ¢HFAX4EL ~HRFFEX 8E L (2 -
B AFLZ A B L4EL)
Lo aRE? LBRES - By i - 2o w88 A S
RiZ =2 (;L;{é@ )f‘%ﬁ}_ o
2 ??4‘“ P%al'—*§ﬁ}§i *(71;315)3"’?%5’”'9????‘ i‘f’(
Bz 37 2EFHHP AT E- FRVIPMEZL S RRE
P A A D AER R AR S SRR
?LE{’)F%%E°
(D 2y sAf#(F) L d§ -
(2) 4 4mR1% (ITP)457(3 )+ 5 (IBT) 42(z )ret o
(3) 7= (IELTS) M= EZ sk 45 (5 ) M} o
4) %% (TOEIC)BE)O(;)‘H °
(5) #w#Ega e 2w ErET 44 2 CEFR) Bl & (7))
S
() BREABPEAFAL 12 F A > ¢ A HERFAPAES 455 - p Rap
PABFR AT L 2ALEPFABRB AT L - FRA2 L ipiad
EAE Ry, S E-RRLE S Ui AR RO
() FReBRERLBHMREOFL, AT EBBE LB YRT2EL -
(2 ) PReEBHRM2TESY ¢ § A LLEFBHMI6EA o £T 2351835
2487 2 7R B EEYHARIZE L o
1

BN

s

BN



I

N il

9

S 9
Sy H

(:)&”§Q&§i4%?ﬁw%ﬁ‘ﬁin4$ﬁ‘@am%$ﬂ
C R F AR EY AT F2 Al 10 12884 o
R
"FaEpEc)y & THaEAS(T) B TERE()
rELFDBHFIFB U T H AR ) T HFEA(T), A 50 A
TGRS RSRRE R LS P
L3R T
A TREEC), f 3 BAD REEC), TREFC)) FAD
250 A(F)tE o WA TRRE(D),550 AT E 0 REERKEFRR
,ﬁ;l_’?’]"?—_’ » B EEG o
ﬁJﬁ
*AARAITRE X RIE 2 AR R B L B T AT L
(" ) ,ﬁ@,ﬁ.@;'}{'&@pﬁ:fi]ﬁgé\ °
(Z) 2%k 6584 o
(Z) 2455013084 (¢ 2H 06540
G
ARAAZET o R =X FFR 2 PR R T FHL o
AP AT R TR RE K E AU WHREP AL AT E o
I EETR R o



